Mixed Addition And Subtraction Word Problems

Problem

If an office expects to recruit 190 employees, 65 men, and 47 women
signed up. How many employees do not recruit?

Solve :
65 190
+47 112
12 78

There are 27 boxes of corn in total, and after eating, 21 boxes are left.
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1. This morning, there were 132 fish in one aquarium and 32 fish in the other
aquarium. At noon, 51 fish were sold. How many fish are left in the aquariums?

2. There are 92 cars in the movie theater parking lot. 19 more cars parked
in the parking lot before the movie started, but 12 cars left. How many cars
are in the parking lot?

3. There are 414 people in the car. At the first stop, 62 more people got in
the car. 49 people got off the car. How many people are in the cars?

4. There were /8 volleyballs in the bag. There were 23 volleyballs in the basket.
50 balls were used for practice. How many volleyballs were not used?

5. My mom baked 66 cookies for the bake sale. I baked 24 cookies. My brother
ate 5 cookies. How many cookies are there for the bake sale?



6. Jeremiahs class collected 76 cans for the food drive. Jennifer’s class col-
lected 73 cans. 34 cans fell off the table and had to be thrown away. How many
cans did they have left?

7 McKenzie had 50 $. She spent 30% . Then she earned 10 more dollars. How
many dollars does she have?

8. There were 91 pieces of candies in the bag. The boy bought 12 more pieces
of candies. He ate 22 pieces. How much candies does he have left?

9. Mickey earned 192 points in his game. The second time he played it, he lost
43 points. Then he earned 51 points. How many points does Mickey have?

10. There were 54 people at the football game. 39 more people came to
watch the game. 16 people left early. How many people were at the football
game?



